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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Insurance. Discuss the essentials of an 

Insurance Contract.  

chek dks ifjHkkf”kr dhft,A chek lafonk ds lkj&rRoksa dk 

foospu dhft,A  

2. What is an Annuity ? Explain the various kinds of 

annuities.  

okf”kZdh D;k gS \ okf”kZdh ds fofHkUu izdkj le>kb,A  

3. What risks are normally covered under a Marine  

Policy ? Explain.  

leqnzh chek ikWfylh ds vUrxZr lkekU;r% fdu tksf[keksa dks 

laòr fd;k tkrk gS \ le>kb,A  

4. Write notes on the following : 

(a) Double Insurance  

(b) Group Insurance 

fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

¼v½ nksgjk chek 

¼c½ lewg chek  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the advantages of insurance to the society.  

chek ds lkekftd ykHkksa dks le>kb,A  

2. Explain the doctrine of subrogation.  

izR;klu fl)kUr dks le>kb,A  

3. Explain the various kinds of Annuities.  

okf”kZdh ds fofHkUu izdkj le>kb,A 

4. Explain the importance of Life Insurance.  

thou chek dk egRo le>kb,A  

5. Explain the difference between the contracts of Life 

Insurance and Marine Insurance.  

thou chek vkSj leqnzh chek lafonkvksa esa vUrj Li”V 

dhft,A  

6. Discuss the provisions relating to renewal of a Fire 

Insurance Policy.  

vfXu chek ikWfylh ds uodj.k ds fu;eksa dh foospuk 

dhft,A  
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7. Write a note on Personal Accident Insurance Policy.  

oS;fDrd nq?kZVuk chek ikWfylh ij ,d fVIi.kh fyf[k,A 

8. What are the various kinds of Workmen‘s 

Compensation Insurance ?  

deZdkj izfrdj chek ds fofo/k izdkj D;k gaS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. According to W. Beveridge Insurance is the collective 

bearing of risks.   

MCY;w- csofjt ds vuqlkj chek tksf[keksa ds lkewfgd ogu dks 

dgrs gSaA  

2. Full form of IRDA is—Insurance Regulatory and 

Disinvestment Act.  

vkbZ- vkj- Mh- ,- dk iwjk uke&chek fu;U=.k ,oa fofuos’k 

vf/kfu;e gSA  
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3. Life Insurance is an insurance against dying to soon 

while endowment insurance is insurance against living 

to long.  

thou chek vYik;q&e`R;q dk chek gS tcfd cUnkscLrh chek 

nh?kkZ;q&thou dk chek gSA  

4. The number of days of grace in case of annual 

premium payable for life insurance in 21 days.  

thou chek ds fy, okf”kZd izhfe;e Hkqxrku gsrq vkxzg 

fnolksa dh la[;k 21 fnu gSA  

5. Under Fire Insurance-―Loss of profit policy‖ is also 

called as consequential loss policy.  

vfXu chek esa ßykHk dh gkfu ikWfylhÞ dks ifj.kkeh gkfu 

ikWfylh Hkh dgrs gSaA  

Select the correct Answer : 

lgh mŸkj dk p;u dhft, % 

6. The general insurance companies were nationalised in : 

(a) 1956 

(b) 1970 

(c) 1971 

(d) 1991 

lkekU; chek dEifu;ksa dk jk”Vªh;dj.k fuEufyf[kr esa fdl 

o”kZ fd;k x;k \ 

¼v½ 1956 

¼c½ 1970 

¼l½ 1971 

¼n½ 1991 
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7. The principle of indemnity does not apply to : 

(a) Burglary Insurance  

(b) Fire Insurance 

(c) Marine Insurance 

(d) Life and Personal Accident Insurance 

{kfriwfrZ dk fl)kUr fuEufyf[kr esa ls fdl ij ykxw ugha 

gksrk gS \ 

¼v½ pksjh dk chek 

¼c½ vfXu chek  

¼l½ leqnzh chek 

¼n½ thou ,oa O;fDr nq?kZVuk chek 

8. Salvage charge is related to : 

(a) Life Insurance  

(b) Marine Insurance 

(c) Fire Insurance 

(d) None of these 

m)j.k izHkkj fuEufyf[kr eas ls fdlls lEcfU/kr gS \ 

¼v½ thou chek ls  

¼c½ leqnzh chek ls 

¼l½ vfXu chek ls 

¼n½ bueas ls dksbZ ugha  



 [ 7 ] BC–15 

 (B-38)  P. T. O. 

9. The head office of National Insurance Company Ltd. is 

at : 

(a) Mumbai  

(b) Bengaluru  

(c) Hyderabad  

(d) Kolkata  

us’kuy bU’;ksjsUl dEiuh fy- dk iz/kku dk;kZy; fuEu esa ls 

dgk¡ ij gS \ 

¼v½ eqEcbZ 

¼c½ csaxyq# 

¼l½ gSnjkckn 

¼n½ dksydkrk  

10. Life Insurance includes : 

(a) Risk and Investment  

(b) Only Risk  

(c) Only Investment  

(d) None of the above  

thou chek esa fuEufyf[kr esa ls D;k fufgr gS \ 

¼v½ tksf[ke ,oa fofu;ksx  

¼c½ dsoy tksf[ke  

¼l½ dsoy fofu;ksx  

¼n½ mi;qZDr esa ls dksbZ ugha  
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